





















Ę	sampl	-E PYP	1PING	<b>PLAN</b>					
	Alternative	Initial cost	Annual O&M cost	Salvage value	Life (yrs)				
	A	\$525k	\$26k	0	50				
	В	\$312k	\$48k	\$50k	25				
	A = 68,915								
	0 B ↓↓↓ \$312k \$	j48k (every ye;	25 \$50k ar) \$312k	$AC_B = $	50 (yrs) \$50k ↑ \$50k ↑ \$50k ↑ \$50k ↑ \$76,544				









## Net Benefits Estimation: Benefit - Cost

Now, you will have to work on your own in the following exercise:

You are working with the manager of an irrigation facility who is interested in installing a more efficient pumping system. The proposed system costs \$15,000 and you estimate that it will reduce the annual utility costs by \$2,000. After five years, you expect to upgrade the system for \$4,000. This upgrade is expected to further reduce utility costs by \$1,000 annually. The annual effective interest rate is 7% and the life of the system, after upgrade is 50 years.



















STE	21				
				B C	
	Project	Capital Cost (million \$)	O&M (million \$/year)	Flood Damages (million \$/year)	
	Do nothing	0	0	2.0	
	A (dam)	6	0.09	1.1	
	B (dam)	5	0.08	1.3	
	C (levee)	6	0.10	0.7	
	AB	11	0.17	0.9	
	AC	12	0.19	0.4	
	BC	11	0.18	0.5	
	ABC	17	0.27	0.25	

STEP I: SSST → →									
e.g. Dam A: A = 6 $\left[ \frac{0.04(1+0.04)^{80}}{(1+0.04)^{80}-1} \right]$									
		(1) (1 = Eq. 3.1)	(2)	(3) (3 = 1 + 2)					
Project	Life (years)	Annual Capital Cost (mln \$/year)	O&M (mln \$/year)	Costs (mln \$/year)					
Do nothing		0	0	0					
A (dam)	80	0.251	0.090	0.341					
B (dam)	80	0.209	0.080	0.289					
C (levee)	60	0.265	0.100	0.365					
AB		0.460	0.170	0.630					
AC		0.516	0.190	0.706					
BC		0.474	0.180	0.654					
ABC		0.725	0.270	0.995					

STEP I: BENEFITS										
				-B ⊂ C	<b>→</b>					
		(1)	(2)	(3)						
				(3=1-2)						
	Project	Do-nothing Damages (mln \$/year)	Damages (mln \$/year)	Benefits (mln \$/year)						
	Do nothing	2.0	2.0	0						
	A (dam)	2.0	1.1	0.9						
	B (dam)	2.0	1.3	0.7						
	C (levee)	2.0	0.7	1.3						
	AB	2.0	0.9	1.1						
	AC	2.0	0.4	1.6						
	BC	2.0	0.5	1.5						
	ABC	2.0	0.25	1.75						

STE	2	-		<b>]</b>	•
	Project	Benefits (mln \$/year)	Costs (mln \$/year)	Rank	
	Do nothing	0.00	0.00	I	
	B (dam)	0.90	0.289	2	
	A (dam)	0.70	0.341	3	
	C (levee)	1.30	0.365	4	
	AB	1.10	0.630	5	
	BC	1.60	0.654	6	
	AC	1.50	0.706	7	
	ABC	1.75	0.995	8	

AB-S METHOR: STEP 3 ANR 4									
Compare	Project	Benef. (B) (mln\$/y)	Cost (C) (mln\$/y)	B/C	ΔB (mln\$/y)	∆C (mln\$/y)	ΔΒ/ΔC	Decision	
	Do Nothing								
θ - B					0.700	0.289	2.42	Β>θ	
	B (dam)	0.700	0.289	2.42					
	Compute $\Delta B/\Delta C$ , If $\Delta B/\Delta C > 1$ , Contender becomes Best								
	e.g., A	> B means	alternative	e A is pre	eferred ove	er alternative	e B		

AB-S METHOR: STEP 3 ANR 4									
Compare	Project	Benef. (B) (mln\$/y)	Cost (C) (mln\$/y)	B/C	∆B (mln\$/y)	∆C (mln\$/y)	ΔΒ/ΔC	Decision	
	Do Nothing								
θ-Β	Ū				0.700	0.289	2.42	Β > θ	
	B (dam)	0.700	0.289	2.42					
B - A					0.200	0.052	3.86	A > B	
	A (dam)	0.900	0.341	2.64					
	Compute $\Delta B/\Delta C$ , If $\Delta B/\Delta C > 1$ , Contender becomes Best								
1	e.g., A	> B means	alternative	A is pre	eferred ov	er alternative	вB		

AB-S METHOR: STEP 3 ANR 4									
Compare	Project	Benef. (B) (mln\$/y)	Cost (C) (mln\$/y)	B/C	∆B (mln\$/y)	∆C (mln\$/y)	ΔΒ/ΔC	Decision	
	Do Nothing								
θ-Β	Ū				0.700	0.289	2.42	B > θ	
	B (dam)	0.700	0.289	2.42					
B - A					0.200	0.052	3.86	A > B	
	A (dam)	0.900	0.341	2.64					
A - C					0.400	0.024	16.44	C > A	
	C (levee)	1.300	0.365	3.56					
	Compute $\Delta B/\Delta C$ , If $\Delta B/\Delta C > 1$ , Contender becomes Best								
	e.g., A	> B means	alternative	e A is pro	eferred over	er alternative	e B		

AB-S METHOR: STEP 3 ANR 4										
Compare	Project	Benef. (B) (mln\$/y)	Cost (C) (mln\$/y)	B/C	ΔB (mln\$/y)	∆C (mln\$/y)	ΔΒ/ΔC	Decision		
	Do Nothing									
θ-Β	Ū				0.700	0.289	2.42	Β>θ		
	B (dam)	0.700	0.289	2.42						
B - A					0.200	0.052	3.86	A > B		
	A (dam)	0.900	0.341	2.64						
A - C					0.400	0.024	16.44	C > A		
	C (levee)	1.300	0.365	3.56						
C - AB					-0.200	0.265	-0.76	C > AB		
	AB	1.100	0.630	1.75						
	Compute $\Delta B/\Delta C$ , If $\Delta B/\Delta C > 1$ , Contender becomes Best									
	e.g.,A	> B means	alternative	A is pre	eferred ove	er alternative	e B			

AB-S METHOR: STEP 3 ANR 4										
Compare	Project	Benef. (B) (mln\$/y)	Cost (C) (mln\$/y)	B/C	ΔB (mln\$/y)	∆C (mln\$/y)	ΔΒ/ΔC	Decision		
	Do Nothing									
θ-Β	-				0.700	0.289	2.42	B > θ		
	B (dam)	0.700	0.289	2.42						
B - A					0.200	0.052	3.86	A > B		
	A (dam)	0.900	0.341	2.64						
A - C					0.400	0.024	16.44	C > A		
	C (levee)	1.300	0.365	3.56						
C-AB					-0.200	0.265	<del>-0.76</del>	C > AB		
	AB	<del>1.100</del>	<del>0.630</del>	<del>1.75</del>						
C - BC					0.200	0.289	0.69	C > BC		
	BC	1.500	0.654	2.29						
	Compute $\Delta B/\Delta C$ , If $\Delta B/\Delta C > 1$ , Contender becomes Best									
	e.g., A	> B means	alternative	A is pre	eferred ove	er alternative	e B			

AB-S METHOR: STEP 5 ANR 8										
Compare	Project	Benef. (B) (mln\$/y)	Cost (C) (mln\$/y)	B/C	ΔB (mln\$/y)	∆C (mln\$/y)	ΔΒ/ΔC	Decision		
	Do Nothing									
θ-Β					0.700	0.289	2.42	B > θ		
	B (dam)	0.700	0.289	2.42						
B - A					0.200	0.052	3.86	A > B		
	A (dam)	0.900	0.341	2.64						
A - C					0.400	0.024	16.44	C > A		
	C (levee)	1.300	0.365	3.56						
C - AB					-0.200	0.265	-0.76	C > AB		
	AB	1.100	0.630	1.75						
C - BC					0.200	0.289	0.69	C > BC		
	BC	1.500	0.654	2.29						
C - AC					0.300	0.341	0.88	C > AC		
	AC	1.600	0.706	2.27						
C - ABC					0.450	0.630	0.71	C > ABC		
	ABC	1.750	0.995	1.76						
	Compute $\Delta B/\Delta C$ , If $\Delta B/\Delta C > 1$ , Contender becomes Best									
	e.g.,A	> B means	alternative	A is pre	eferred ove	er alternative	e B			

